(=2x° 4+ x* + ax + b)* 2] A NA ¥ 2] A7t -8 W], a—2b 9]
@27

@® -6 @ -4 ® -2 @ 0 ® 2



2. (1+42x-3x2+4x3 = 5xt + 6x° 4+ 72)2 o] TN A] ¥ O] A2

@ o @ 2 ® -2 @ 4 ® -4



3. (20 = 3x% +3x +4)(3xt 4+ 2x3 = 2x2 — Tx + 8) & HIHTE Alof|A] x3
o] Ag?

@ 31 @ 33 ® 35 @ 37 ® 39



4.  a=2004, b=2001%¥ W, a® — 3a*b + 3ab> - b* 2] -7

@® 21 @ 23 ® 25 @ 27 ® 29



5.

(10° + 2)° 9] 7} 2] 2] 52be] §E Fspolel.

® 15 @ 18 ® 21 @ 26

® 28



6.  99x101 x (1002 4 100 + 1) x (100 = 100 + 1) -2 AAFSFH?

® 100% -1 @ 1005 +1 @ 100° -1

@ 100° +1 ® 1



7. TRHA (x4 1)(x+3)(x+5)(x+T) + a7} olAFTFA o] AT o]
YIS 9] gh Hstelet.
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10. 94 7(05 (v- ) 2 1o 58 o(v), U141 S ROl &
. T () 3x - 22 WAl el St AT

® Q9(x), R @ 30(x), R ® Q(x), 3R



22 THFA] A 4 14 (x+ 1) 0] 2+ x4 1 2 LhrolEo] 114 ¢l
S A% g PR BT (o] Yue 55 A=
Jag 2L

wZb A k2 4 x+ 1 = 02 Yok o)kl 5h w? +
w+1=0
LWl w#l
(i)n=3k(k=0,1,2,---) o]¥
W+ 14+ (w+1)"=(Q)
(ii)n=3k+1(k=0,1,2,---)°]
W' +1+(w+1)*=(0O)
(i) n =3k +2(k=0,1,2,---)°]HA
W+ 14 (w+1)*" =0
oHERA] (1), (i), (iil) oA Fet=nd (©) oIt

@ 1,0,3k @ 2,1,3k+1 ® 3,0,3k +2
@ 3,0,3k ® 2,1,3k



12, 4749 S £ 7F £(0) = 0, (1) = 5, f(2) = 3, /)

f(4) = - & ASAR W, £(5) o] 2k o7
5 2 1
@ o @ 1 ® = ® 2 ® 3



13. ab(a-b)+bc(b—c) + ca(c —a)= AN5-=EolS5HH?

® —(a-b)(b-c)(c—a) @ —(a+b+c)a-b-c)
@ ~(a+b)(b+c)(c+a) @ (a+b)(b+c)(cta)

® (a-b)(b-c)(c—a)



14. a®b2(a—b) + b2 (b - ) + 2a*(c - a) & V52 519
% Q1%:7} ohd L9

@ a-b @ b-c¢ @ c-a

@ a+b+c ® ab+bc+ca
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15. o8 27| F ab(b - a) + ac(c —a) + be(2a — b —¢) ] Q1591 A
BT 129

@ a-b O b+c ©a-c

ONQ) @ © ® 9,0
ONGNG) ® 0,06,6



